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QUESTION 1

Which of the following is a function of an SPS Diameter IOH VM? 

A. Provides logs and alarms to management 

B. Terminates signaling connections to the network 

C. Terminates HTTP and LDAP connections 

D. Manages configuration of other VMs in the VNF 

Correct Answer: B 

 

QUESTION 2

Which of the following network elements is implemented by the Nokia CPC? 

A. Policy and charging rules function (PCRF) 

B. Equipment Identity Registration (EIR) 

C. Application Function (AF) 

D. eNodeB 

Correct Answer: A 

 

QUESTION 3

Which of the following OpenStack projects provides networking services to VMs? 

A. Neutron 

B. Nova 

C. Keystone 

D. Horizon 

Correct Answer: A 

 

QUESTION 4

Which of the following describes the N+ model for VM redundancy? 

A. There are N active VMs and one standby VM that takes over if the active VM fails. 

B. Thera are N active VMs and a pool of standby VMs that can take over if one or more active VMs fail. 
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C. There are N active VMs, each one paired with a standby VM that takes over if the active VM fails. 

D. There are N active VMs to support the service with additional active VMs to provide extra capacity if one or more
VMs fail. 

Correct Answer: C 

 

QUESTION 5

Which of the following statements about 4G-5G CN-level interworking solution is FALSE? 

A. It requires a direct interface between the two radio nodes serving the UE 

B. The UE manages the LTE and NR interface connections independently 

C. The UE can be registered to both EPC and next generation core 

D. The UE IP address remains the same despite changes in the network that the UE connects to 

Correct Answer: D 
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